220 1] - = WO
LCD Wand ha[terung .. 20

: @ e e ® @ R {:i’ 13x5,5x16 (x4) 18x8,5x22 (x4) M6 (x4)
LCD Wall Mount | r M4x30 (x4) Mdx12 (xd4) M4 (x4) | M6x35 (x4) M6x12 (x4) M6 (x4) .

8x63 (x6) M8 (x6)

(B) | (o= = [} O IS

M5x30 (x4) M5x12 (x4) M5 (x4) M8x40 (x4) M8x16 (x4) M8 (x4)

@10x50 (x6)

osn,p 1uoiznisj AxkeLlHoOW ou BUMIAdLOHY BulusiauesBuriajuop
ef19)niysul sezejuop Bulupsjlaasburiayuopy Buipiajpueyabejuop
siynfsnpjebied alyosnuuasy SuouAoyordoano niIAuQQO
efio)ynJijsul owiAejuop afejuow ap sauol29anJjsu| abejuow ap suononisuj
Bulusiauesburiajuo zejyuow oid poAeN suononujsul Alquiassy
uaqyay leyuop wabejuow ap sagdnuysu| Bunjiajueabejuop

SNOILONALSNI AM8aINaSSY
SONNLIFTINVIOWV.LNOIN

LNMNOI TTV/W A1
SONNEA3LTVHANVY/W Ao
me2eSLH




UPOZORENJE

AVERTISSEMENT >

ISPEJAMOJI NUORODA @

WSKAZOWKA

Kod montiranja pazite da sve bude uredno
sastavljeno. lzri¢ito Vas na to upozoravamo,
da ne preuzimamo odgovornost za neispravno
i pogresno montiranje. Molimo Vas da pripazite
na priloZzenu skicu za montazu.

Prilozeni materijal za uévrSéivanje je izri€ito
namjenjen za montiranje na ¢vrstom zidu ili
betonu. Kod drugog zida, kao na primjer kod
Supljog kamenog bloka, gipskartona ili gradnje
sa laganim materijalom pitajte Vaseg instalatera
ili struénu radnju.

Ne prekoradite ni u jednom slu€aju vrijednosti o
veli€ini i teZini, koje su zapisane na kartonu.

VYSTRAZNE POKYNY @

PFi montazi zajistéte fadnou instalaci. Vyslovné
upozorfiujeme na to, Zze neodpovidame za
Spatnou a chybnou montaz. Prosim, dodrzujte
i pfilozeny navod k montazi.

Dodané upevnovaci materialy jsou vyhradné
ureny k montédZi na masivni zdivo nebo
beton. U jinych stén, jako napf. dutych tvarnic,
sadrokartonu nebo odlehéenych konstrukci,
se obratte na instalatéra nebo specializovany
obchod.

V zadném pfipadé nesmite prekrodit na kartonu
uvedené rozmérové a hmotnostni hodnoty.

WARNHINWEIS @

Sorgen Sie bei der Montage fiir eine ordnungs-
gemale Anbringung. Wir weisen ausdriicklich
darauf hin, dass wir flir falsche und fehlerhafte
Montage keine Verantwortung Ubernehmen.
Beachten Sie bitte auch die beiliegende
Montageanleitung.

Die mitgelieferten Befestigungsmaterialien
sind ausschlieBlich zur Montage an massivem
Mauerwerk oder Beton gedacht. Bei anderen
Wanden, wie z. B. Hohlblocksteinen, Gipskarton
oder Leichtbauweise, wenden Sie sich an einen
Installateur oder den Fachhandel.

Uberschreiten Sie keinesfalls die auf dem
Karton vermerkten Werte Uber GroRe und
Gewicht.

ADVARSEL

Sarg ved monteringen for en korrekt placering.
Vi henviser udtrykkeligt pa at vi ikke haefter for
forkert eller mangelfuld montering. Overhold
vedlagte monteringsvejledning.

Det medfglgende monteringsmateriale er
udelukkende beregnet til montering pa massivt
murveerk eller beton. Ved andre vaege,
som f. eks. letbetonsten, gipskarton eller
letveegtskonstruktioner kontakt en installatar
eller forhandleren.

De pa emballagen angivne veerdier med henblik
pa starrelse og veegt ma aldrig overskrides.

AVISO DE ADVERTENCIA &

Al realizar el montaje preocupese de que
se haga en forma reglamentaria. Nosotros
advertimos expresamente, que no nos
hacemos cargo de ninguna responsabilidad
por el montaje falso o incorrecto. Por favor,
preste también atencion a las instrucciones de
montaje adjuntas.

Los materiales de sujecion adjuntos estan
exclusivamente concebidos para el montaje
en mamposteria masiva u hormigén. En
caso de otro tipo de paredes, como p. €.
ladrillos huecos de bloque, placas de yeso
entre cartones o construccién con materiales
ligeros, tome contacto con un instalador o con
el comercio especializado.

En ningun caso exceda los valores de tamafio
y peso indicados en el carton.

HOIATUS &D

Hoolitsege 0ige paigalduse eest. Me juhime
téhelepanu ka sellele, et ei vastuta vale ja
mittenbuetekohase paigalduse eest. Jargige
lisatud paigaldusjuhist.

Kaasasolevad kinnitusmaterjalid on méeldud
eranditult paigaldamiseks massiivsele
muuritisele voi betoonile. Muude seinattitipide
puhul, nagu nt. d6nesplokid, kipskartong ja
kergehitus, pdorduge paigaldaja vdi edasimiiija
poole.

Mitte mingil juhul arge (Uletage pakendile
margitud suuruse ja kaalu vaartusi.

Assurez-vous que vous effectuez correctement
la fixation lors du montage. Nous vous
signalons expressément que nous rejetons
toute responsabilité pour tout montage incorrect
ou erroné. Conformez-vous également aux
instructions de dressage ci-jointes.

Les matériels de fixation joints sont destinés
exclusivementa un montage a des maconneries
massives ou a un ouvrage en béton massif.
Veuillez recourir a I'assistance d’un installateur
ou du commerce spécialisé pour tous les autres
types de murs, tels que les murs en blocs
creux, les murs en placoplatre ou en matériaux
de construction légers.

Ne dépassez en aucun les valeurs de
dimensions et de poids indiquées sur le carton

VAROITUS )

Pida asennuksessa huoli asianmukaisesta
jarjestyksestd. Painotamme nimenomaan,
ettemme ota vastuuta vaarasta ja virheellisesta
asennuksesta. Noudata myds oheista
kokoamisohjetta.

Mukana tulleet kiinnitysmateriaalit on tarkoitettu
pelkastaan massiiviseen muuriin tai betoniin
tehtaviin asennuksiin. Muiden seinien kohdalla,
kuten esim. tiilet, kipsikartonki tai jotkin keveat
rakennetavat, kaanny asentajan tai alan
erikoisliikkeen puoleen.

Ald missdan tapauksessa ylitd laatikkoon
merkittyja kokoa ja painoa koskevia arvoja.

WARNING

Ensure correct mounting during installation.
We explicitly wish to point out that we will not
take any responsibility for incorrect and faulty
installation. Please take note of the enclosed
assembly instruction.

The enclosed mounting materials are solely
intended for installation on solid masonry or
concrete. For other walls such as e.g. hollow
block bricks, plasterboard or lightweight
constructions please contact a plumber or
specialised dealer.

Never exceed the given dimensions and weight
stated on the box.

[MpogidoTtToINTIK) UTTOdEIEN

®povTioTe yia ocwoTh ToTmOBETNON. Kdvoupe
pnt  udveia, om dev  avaAapPavoupue
Kauuia €uBlvn o€ TePITTTWOn €0@aAUévVNG
ToTT00€TNONG. MNapakaloUpe va TTPOCEEETE TNV
ouvnuuévn Odnyia cuvapuoAdynong.

Ta ouptrapadidopeva  UAIKG  OTEPEWONG
TTpoopifovTal  OTTOKAEIOTIKA Kal  pévo  yid
TOTT00€TNON O€ TOiXO OTTO TOURAQ, TTETPEG N
MTTETOV. [Na TOTToB8ETNON € AAAOU €iBOUG TOIXWYV,
T.X. OTT0 TOIYEVTOAIBOUG, OTIO YyuWoOoOVideg
l OTeYVAG KATAOKEUNG TTOPOKOAOUPE VO
ammoTavOeiTe TPOG UBPAUAIKO 1 TIPOG €va
€CEIDIKEUPEVO KATAOTNHA.

Agv  emTpETETAl N UTTEPRAON TWV  TINWV
O100TAoEWY Kal BAPOUG TTOU avagEéPovTaIoTn
OUOKEUaaia.

AVVERTENZA a

Nel montaggio fare attenzione ad una corretta
attuazione. Noi declina espressamente ogni
responsabilita in caso di montaggio sbagliato
o difettoso. Si prega di voler osservare le
istruzioni di montaggio qui unite.

Il materiale di fissaggio in dotazione & stato
previsto esclusivamente per il montaggio su
muri massicci o cemento. Per pareti diverse,
come p.es. in mattoni forati, cartongesso o
strutture leggere, si prega di rivolgersi ad un
installatore o ad una rivendita specializzata.

In ogni caso non superare i valori di grandezza
e peso riportati sull'imballaggio.

Montuodami tinkamai sudékite visas dalis.
Pabréziame, kad neprisiimame atsakomybés,
jei jranga buvo netinkamai arba blogai
primontuota. PraSome laikytis montavimo
nurodymuy, pateikty pridétoje instrukcijoje.

Kartu tiekiamos tvirtinimo medziagos skirtos
jrangai tik prie masyviy maro sieny ar betono
tvirtinti. Jei norite tvirtinti prie kitokiy sienu,
pvz., tuStymetyjy blokeliy, gipso kartono
arba lengvyjy konstrukcijy, praSome kreiptis
| instaliuotojg arba specializuotos prekybos
atstovus.

Jokiu bddu nevirSykite ant kartotinés dézés
nurodyty dydzio ir svorio verciy.

BRIDINAJUMA
NORADIJUMS @

Montazas laikd sekojiet, lai piestiprinasana
notiktu atbilstoSi noteikumiem. Més kategoriski
noradam, ka més neuznemamies atbildibu par
nepareizi vai klidaini veiktu montazu. levérojiet
arT pievienoto montazas instrukciju.

Komplektad piegadatie stiprindjuma materiali ir
paredzéti vienigi montazai pie masiva mdra
vai betona. Piestiprinasanai pie citam sienam,
ka, piem., dobtajiem blokiem, gipskartona vai
vieglam konstrukcijam, lddzam vérsties pie
montiera vai specializéta tirdzniecibas vieta.

Nekada gadijuma neparsniedziet uz kartona
karbas noraditas izméru un svara vertibas.

ADVARSEL )

Sarg for en forskriftsmessig montering. Vi gjer
oppmerksom pa at vi ikke overtar noe ansvar
for feil eller mangelfull montering. Se ogsa
vedlagte monteringsanvisning.

De medfglgende festematerialene er bare ment
for montering pa massivt murverk eller betong.
Pa andre vegger, som f.eks. pa hulstein,
gipskartong eller andre lette materialer, bar du
henvende deg til en installatgr eller til andre
fagfolk.

Du ma aldri overskrive verdiene angaende
starrelse og vekt som er angitt pa kartongen.

WAARSCHUWING Q@D

Zorg er bij het monteren voor, dat het product
volgens de regels wordt aangebracht. Wij
maak u er uitdrukkelijk op attent dat wij geen
aansprakelijkheid aanvaarden voor een
verkeerde en gebrekkige montage. Neem ook
de bijgevoegde opbouwinstructie in acht.

De meegeleverde bevestigingsmaterialen zijn
uitsluitend bedoeld voor montage aan massief
metselwerk of beton. Bij andere muren zoals
bijv. van holle bouwstenen, gipsplaat of lichte
wandconstructies dient u zich te wenden tot
een installateur of speciaalzaak.

Overschrijd in geen geval de op de doos
vermelde gegevens wat betreft grootte en
gewicht.

ADVERTENCIA D)

Aquando da montagem, certifique-se de que
0 equipamento é instalado correctamente.
N&o nos responsabilizamos na eventualidade
de uma montagem incorrecta ou deficiente.
Respeitar as Instrucbes de Montagem
fornecidas conjuntamente.

Os materiais de fixagdo fornecidos conjun-
tamente foram concebidos exclusivamente
para montagem em alvenaria maciga ou betéo.
Para montagem do equipamento noutro tipo de
paredes, por exemplo, de tijolo furado, gesso
ou outra construgao ligeira, devera entrar-se
em contacto com um técnico de instalagao ou
consultar-se uma loja da especialidade.

Nunca ultrapassar os valores limite que estao
inscritos na caixa de cartdo referentes ao
tamanho e ao peso.

Przy montazu prosimy zwrocic uwage ne
przepisowa instalacje. Wskazujemy, ze za
bledny montaz nie odpowiadamy. Prosze
Zwrocic uwage na istrukcje.

Dolanczony material do instalacij jest
przeznaczony tylko do montazu w scianach
murowanych albo betonu. Przy scianach z
pustakow, gipsu albo innych lekkich konstrukgiji,
prosimy o zwrot do instalatora albo handlu
branzowego.

Informacje dotyczace wagi i wielkosci podane
na kartonie, nie moga zostac przekroczone.

NPEOYMNPEXOAIOLLEE
YKASAHUNE

lMpy MoHTaxe HeobxoaMmoO No3aboTUTbCA O
Hagnexawem pasmelleHun. Mol ykasbiBaem
Ha TO, YTO Mbl HE HOCEM OTBETCTBEHHOCTU
3a HemnpaBWMbHbIN WNW  BbINOMHEHHbLIN  C
MOrpeLUHOCTAMU MOHTaX. MoxanywcTa,
crnefynte Takke npunararoLencs NHCTPYKLUn
Mo yCTaHOBKe.

[MocTaBneHHble B KOMMMEKTE KpenexHble
mMaTtepuanbsl NpeayCMOTPEHbl UCKMIOUYUTENBHO
ONs MOHTa@Xa Ha MacCCMBHON KaMEHHON wunu
6eToHHOW cTeHe. [Ansa opyrmx CTeH, Hanpumep,
U3  mycToTenbix  OMOKOB,  FMMCOKapTOHa
WNW Merkom KOHCTPyKuuu, obpatutecb K
MOHTaXXHUKY U B TOYKM CNEeLMann3mpoBaHHOM
TOProBMu.

Hwv B koem cnyyae He npeBsblllaniTe 3HA4YEHNS
Ons pa3Mepa 1 Beca, ykasaHHble Ha KapTOHHOM
KopoobKe.

VARNINGSINFORMATION g

Se vid monteringen till att fastsattningen sker
pa foreskrivet satt. Vi vill uttryckligen framhalla
att vi inte ansvarar for felaktig eller bristfallig
montering. Var god beakta dven medféljande
monteringsanvisning.

Det medféljande fastmaterialet &r endast
avsett for montering pa massiva murvaggar
eller betong. Kontakta en installator eller
fackhandeln nar det géller montering pa andra
vaggar, t ex sadana med halblock, gipskartong
eller vaggar uppforda i lattbyggnadsteknik.

Ovrerskrid aldrig de varden for storlek och vikt
som anges pa kartongen.

VYSTRAZNE
UPOZORNENIE

Pri montazi dbajte na riadne upevnenie.
Dérazne upozorfiujeme na to, Ze za nespravnu
a chybnu montaz nepreberame ziadnu zaruku.
Dodrziavajte, prosim, aj pokyny uvedené v
priloZzenom navode na montaz.

Dodany upevnovaci material je uréeny vyluéne
pre montaz na masivne murivo alebo beton.
V pripade inych typov stien, ako su napr.
dutinové tvarnice, sadrokarton alebo [lahka
konsStrukcia, sa obratte na inStalatéra alebo
Specializovaného predajcu.

V Ziadnom pripade neprekracujte hodnoty pre
velkost a hmotnost uvedené na karténe.

UYARILAR

Montaj sirasinda malzemelerin geregine uygun
bir sekilde takilmasina dikkat edin. Biz, yanlis
ve hatali montaj icin herhangi bir sorumluluk
Ustlenmedigimiz konusunda agik ve net bir
sekilde uyarmak ister. Litfen iligikteki kurulum
talimatnamesine de riayet edin.

Birlikte teslim edilen tespit malzemeleri sadece
ve sadece i¢i dolu duvarlara veya betona
montaj icin éngdrilmustir. Ornegin ici bos tas
duvarlar, algi ve kartonpiyer veya hafif yapida
duvarlar gibi diger turden duvarlarda lutfen bir
tesisatclya veya uzman kisilere danigin.

Hicbir suretle karton Gzerinde belirtiimis olan
ebat ve agirlik degerlerini asmayin.

Y AR

MOLINT ACCESSORIES

H16-1L

DECKENHALTERUNG FUR BEANMER
BEAIVIER CEILING IVIOUNT

H17-1L

HALTER FUR LAUTSPRECHERBOXEN!

LOUDSPEAKER WALL BRACKET




